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i 0T 4 BB [ s gt Bom R xR

FE1T I HEA (3HAEFL) SENGE | OBREE
VN i 1] 105,591,495 8,817,248 0.693 88.2 21.7 16.4
S e} 1] 46,310,591 3,464,880 0.583 91.0 24.5 22.1
SO I = ] 26,027,254 1,589,832 0.336 89.7 24.2 19.6
A & 11,313,537 690,285 0.345 93.7 24.6 18.7
;oEoE W 27,002,231 2,659,077 0.737 81.5 23.7 19.7
[iif] % 1] 26,951,992 2,195,492 0.704 85.2 26.4 17.0
K o 1] 15,897,001 966,069 0.342 92.4 24.6 23.5
i i 1] 10,856,342 716,610 0.410 88.3 22.1 18.3
| o T 23,292,038 1,748,227 0.811 85.5 24.7 21.6
iif] Nid i} 16,632,993 924,014 0.241 86.4 26.4 22.1
® i il 8,821,395 637,834 0.491 87.9 23.7 17.2
il D 318,696,869 24,409,568 0.518 88.2 24.2 19.7
E = i 4,179,684 229,815 0.214 86.7 25.5 22.6
A& JROHT 7,062,087 367,935 0.175 82.1 28.7 19.8
LiN HII Hy 6,288,840 569,677 0.728 88.0 20.7 16.8
1 il Hy 5,258,263 376,786 0.456 88.3 26.5 16.1
A I Hy 7,318,794 417,677 0.252 87.9 24.7 20.1
3 Vsl Hy 6,102,746 393,171 0.536 84.5 22.3 23.0
LiN Lilg Hy 2,047,702 111,571 0.151 82.7 21.8 22.1
o) it Hy 4,955,327 274,888 0.206 87.0 22.8 21.3
g B Hy 10,586,234 583,305 0.225 89.2 27.6 27.8
iy it 53,799,677 3,324,825 0.327 86.3 24.5 21.1
i iy it 372,496,546 27,734,393 0.432 87.3 24.4 20.3
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TEH — ik HESC i FERAH

T bR R THR 7 A ES
93.8 - 8.3 67.9
93.8 - 14.2 63.7
94.6 - 11.1 59.7
94.2 - 11.7 64.2
92.3 - 6.8 -
93.4 - 12.4 70.3
94.4 - 15.0 79.1
93.5 - 12.8 55.3
92.9 - 13.8 150.7
94.5 - 11.2 58.3
93.8 - 13.5 87.2
93.7 - 11.9 68.8
93.6 - 9.4 29.5
95.5 - 15.3 61.1
93.5 - 12.7 95.7
94.1 - 6.8 -
94.5 - 11.6 1.3
91.5 - 10.7 -
94.9 - 11.4 32.8
94.7 - 14.4 66.3
94.6 - 12.1 34.1
94.1 - 11.6 35.6
93.9 - 11.8 53.9
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